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LSE-03 : GENETICS

Time : 2 Hours  Maximum Marks : 50

Note : Answer any five questions. All questions carry

equal marks.

1. (a) Define the following terms : (5 × 1 = 5)

(i) Autosomes

(ii) House keeping genes

(iii) Euploidy

(iv) Conjugation

(v) Bottleneck effect

(b) Match the items of column I and with that of

column II (5 × 1 = 5)

Column I Column II

(i) CLB (a) T.H. Morgan

(ii) Sex linkage (b) Landsteiner

(iii) Human genome (c) McClintock

project

(iv) ABO blood groups (d) James Watson

system

(v) Transposable elements (e) H.J. Muller

2. (a) Explain Mendel’s Law of Independent assortment

with the help of flow chart. 5

(b) What are lethal genes ? Explain with the help of

a dominant and a recessive lethal. 5

3. Write short notes on any two of the following :

(5 × 2 = 10)

(i) Sex determination in Drosophila

(ii) Genetic mapping

(iii) Sex Ratio

(iv) DNA double helix.

4. (a) Discuss hemoglobin gene cluster. 5

(b) Explain how does genetic drift affect gene

frequencies in a population. 5
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5. (a) Discuss briefly quantitative inheritance. 5

(b) What is intellingence quotient (I.Q.) ? Explain its

genetic basis. (2 + 3 = 5)

6. Differentiate between any four pairs of the following :

(4 × 2.5 = 10)

(i) Monogenic and polygenic inheritance.

(ii) DNA virus and RNA virus.

(iii) Deamination and Depurination.

(iv) Radiation therapy and chemotherapy.

7. (a) What is extra-nuclear inheritance ? Discuss it

with two examples. (2 + 3 = 5)

(b) Mention the procedural steps of chromosomal

preparation for cytogenetic studies. Write the

significance of each step. 5

8. Explain briefly any four of the following :

(4 × 2.5 = 10)

(i) Translocation

(ii) RNA as genetic material

(iii) Plaque assay technique

(iv) Sex-Limited traits

(v) Restriction enzymes.
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,y-,l-bZ--03 : vkuqoaf'kdh

le; : 2 ?k.Vs vf/kdre vad : 50

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad

leku gSA

1. (a) fuEufyf[kr inksa dks ifjHkkf"kr dhft, %(5 × 1 = 5)

(i) vfyaxlw=

(ii) gkmldhfiax (?ksjyw dk;Z) thUl

(iii) lqxqf.krk

(iv) la;qXeu

(v) ckWVyuSd@ekxZvojks/k izHkko
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(b) dkWye I ds enksa dk dkWye II ds enksa ls feyku

dhft,µ (5 × 1 = 5)

dkWye I              dkWye II

(i) CLB fof/k (a) Vh- ,p- ekWxZu

(ii) fyax lgyXurk (b) ySUMLVhuj

(iii) ekuo thukse (c) eSfDyaVksd

ifj;kstuk

(iv) ABO :f/kj oxZ iz.kkyh (d) tsEl okVlu

(v) ifjorZu'khy rRo (e) ,p- ts- eqyj

2. (a) esUMy ds Lora= viO;wgu ds fu;e dks izokg fp=

dh lgk;rk ls le>kb,A 5

(b) ?kkrd thu D;k gSa \ izHkkoh vkSj vizHkkoh ?kkrd dh

lgk;rk ls budh foospuk dhft,A 5

3. fuEufyf[kr esa ls fdUgha nks ij y?kq fVIi.kh fyf[k, %

(5 × 2 = 10)

(i) MªkslksfQyk esa fyax fu/kkZj.k

(ii) vkuqoaf'kd ekufp=.k
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(iii) fyax vuqikr

(iv) Mh-,u-,- f}oqaGMyh

4. (a) gheksXyksfcu thu lewg dh O;k[;k dhft,A 5

(b) ;g le>kb, fd vkuqoaf'kd fopyu fdl izdkj

lef"V;ksa esa thu vko`fÙk;ksa dks izHkkfor djrk gSA 5

5. (a) ek=kRed oa'kkxfr dh laf{kIr foospuk dhft,A 5

(b) cqf¼ yfC/k (IQ) D;k gS\ blds vkuqoaf'kd vk/kkj dh

foospuk dhft,A (2 + 3 = 5)

6. fuEufyf[kr esa ls fdUgha pkj tksM+ksa ds chp vUrj fyf[k,A

4 × 2·5 = 10

(i) ,dthuh vkSj vusd thuh oa'kkxfr

(ii) DNA fo"kk.kq vkSj RNA fo"kk.kq

(iii) fo,feuhdj.k vkSj foI;wjhuhdj.k

(iv) fofdj.k fpfdRlk vkSj jlk;fud fpfdRlk

(dheksfFkjsih)
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7. (a) dsUnzd ckg~; oa'kkxfr D;k gS \ bls nks mnkgj.k nsdj

le>kb,A (2 + 3 = 5)

(b) dksf'kdkuqoaf'kd v/;;uksa ds fy, xq.klw= fufeZr dh

izfØ;k ds pj.kksa dks fyf[k,A izR;sd pj.k ds egRo

dks fyf[k,A 5

8. fuEufyf[kr esa ls fdUgha pkj dk laf{kIr o.kZu dhft, %

(4 × 2·5 = 10)

(i) LFkkukarj.k (Vªkalyksds'ku)

(ii) vkuqoaf'kd inkFkZ ds :i esa RNA

(iii) Iykad vkekiu rduhd]

(iv) fyax&lgyXu] oa'kkxfr

(v) jsfLVªD'ku fu;a=.k ,Utkbe

***
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